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TOEIC Part 3-12 ENGLISH BELL.
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Choose the best answer

Questions:

1. When was the training originally scheduled for?
A) June

B) July

C) August

D) September

2. Why was the construction delayed?

A) Because of the weather.

B) Because there was unavailable place.

C) Because of the budget shortage.

D) Because of the difficulty in making schedule

3. What can be inferred in the conversation?

A) There is a meeting of staff.

B) They failed to have the training.

C) They are optimistic to have other schedule for the training.
D) Both of them are hopeless.



